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- Grey line: exponential fit Peak flux: 4.341+/- 0.025 c/s/cm? 7
: Black line: power law + gauss fit Fluence : 42.95+/- 0.22 c/cm? :
Dashed line: power law o ’ '
n Duration: 22.95+/- 1.01s n
- Best fit model: 2. ]
F Best fluence model: 2. 3
: Best duration model: 2. B
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; Exponential fit é
= Expon.time: 6.17+/- 0.04 s (chi*-red= 18.77) 3
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; Power law fit é
= Power law index: -1.900+/- 0.006 (chi’-red= 2.16) 3
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—  Power law fit plus Gaussian (st.dev.= 5.82+/-0.52 s, fracgs= 0.02+/- 0.01) =
- Power law index: -1.872+/- 0.015 (chi*-red= 2.15) 7
- | ]
= b | | Wt bl b bty b b 3
E L T T L T T I AR AR AR B Ao et
= w it A ﬁw b mﬂw / H*Hﬁ i m Iy W i W ﬁﬂ*ﬁ y ﬁﬁﬂ i jﬂ it W o mﬂ i mﬂ i j“ﬁ ¥ ﬁﬂ My uﬁMWWHﬁ Wi
= + 3
E 1 L L L L L L L L L 1 L L L L L L L L L 1 L L E
0 100 200 30

Time [s]

0



